Apartment in San Gwann REMAX



Reference No: 240351001-50758

San Gwann, Sliema and St Julians Surroundings



€260,000

Total Rooms: 5

Bathrooms: 1

Floor Area (m²): 113

Bedrooms: 2

Apartment - For Sale - San Gwann

San Gwann - Few minutes off MENSIJA AREA. New on the market is this spacious 113sqm apartment. Form of open plan 45sqm kitchen/living /dining, leading onto a front balcony, bathroom and two double bedrooms one with balcony and other with drying terrace. Properties are to be sold highly finished including doors and bathrooms.

Features

Balcony

Rooms

✓ Double Bedroom : 3.7 x 3.5 m (12.95 m2)

Double Bedroom : 3.5 x 3.5 m (12.25 m2)

✓ Dining: 3.8 x 6.2 m (23.56 m2)

✓ Kitchen/Living/Dining: 3.6 x 6.6 m (23.76 m2)

✓ Bathroom : 2 x 2.3 m (4.6 m2)

Open Space : 3.5 x 3 m (10.5 m2)

Open Space : 1 x 1 m (1 m2)

Open Space : 1 x 3 m (3 m2)

Gallery





RE/MAX Malta - BDV Sales RE/MAX Malta - BDV

M: 22471300

E: bdv@remax.com.mt

T: 22471300

RE/MAX Malta - BDV

29, Realco Building, Level 1, ,Achille Ferris Street , Msida, Malta